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https://doubtnut.app.link/MVcbJvrhfnb


1. Which of the following options is true, and

why?  has

A. a unique solution

B. only two solutions

C. infinitely many solutions

D. none of these

Answer: C

Watch Video Solution

y = 3x + 5

https://dl.doubtnut.com/l/_UD4lgL5tPes1
https://dl.doubtnut.com/l/_CjUYMhN8IdBT


2. Write four solutions for each of the

following equations. 

Watch Video Solution

2x + y = 7

3. Write four solutions for each of the

following equations. 

Watch Video Solution

πx + y = 9

https://dl.doubtnut.com/l/_CjUYMhN8IdBT
https://dl.doubtnut.com/l/_6cOG1A0Umf62


4. Write four solutions for each of the

following equations. 

Watch Video Solution

x − 4y = 0

5. Check which of the following are solutions

of the equation  and which are not

? 

(0,2)

Watch Video Solution

x − 2y = 4

https://dl.doubtnut.com/l/_RgB3KI5pDaQP
https://dl.doubtnut.com/l/_JA1igdzEzfST


6. Check which of the following are solutions

of the equation  and which are not

? 

(2,0)

Watch Video Solution

x − 2y = 4

7. Check which of the following are solutions

of the equation  and which are not

? 

(4,0)

x − 2y = 4

https://dl.doubtnut.com/l/_JA1igdzEzfST
https://dl.doubtnut.com/l/_TJuNZMKLeLQd
https://dl.doubtnut.com/l/_lBO5rnqEQvob


Watch Video Solution

8. Check which of the following are solutions

of the equation  and which are not

? 

.

Watch Video Solution

x − 2y = 4

(√2, 4√2)

9. Check which of the following are solutions

of the equation  and which are notx − 2y = 4

https://dl.doubtnut.com/l/_lBO5rnqEQvob
https://dl.doubtnut.com/l/_ctYeTWzchzho
https://dl.doubtnut.com/l/_clGvOUbKkO4a


Exercise 10 3

? 

(1,1)

Watch Video Solution

10. Find the value of k, if  is a

solution of the equation .

Watch Video Solution

x = 2, y = 1

2x + 3y = k

https://dl.doubtnut.com/l/_clGvOUbKkO4a
https://dl.doubtnut.com/l/_3HrFROcv2QKd


1. Draw the graph of each of the following

linear equations in two variable. 

.

Watch Video Solution

x + y = 4

2. Draw the graph of each of the following

linear equations in two variable. 

Watch Video Solution

x − y = 2

https://dl.doubtnut.com/l/_uDs9Cul1LRYn
https://dl.doubtnut.com/l/_8L2J4nwBvXbq
https://dl.doubtnut.com/l/_7kkqiC6EFBFX


3. Draw the graph of each of the following

linear equations in two variable. 

.

Watch Video Solution

y = 3x

4. Draw the graph of each of the following

linear equations in two variable. 

Watch Video Solution

3 = 2x + y

https://dl.doubtnut.com/l/_7kkqiC6EFBFX
https://dl.doubtnut.com/l/_a0BSa7OH8ZGc
https://dl.doubtnut.com/l/_TJoYk95Iumdy


5. Give the equations of two lines passing

through (2,14). How many more such lines are

there and why ?

Watch Video Solution

6. If the point (3,4) lines on the graph of the

equation , find the value of a.

Watch Video Solution

3y = ax + 7

https://dl.doubtnut.com/l/_TJoYk95Iumdy
https://dl.doubtnut.com/l/_dXPJFlX1n9d6


7. The taxi fare in a city is as follows, for the

first kilometre, the fare is Rs. 8 and for the

subsequent distance it is Rs. 5 per km. Taking

the distance covered as x km and total fare as

Rs y, write a linear equation for this

information and draw its graph.

Watch Video Solution

8. From the choices given below, choose the

equation whose graphs are in fig (i) and fig (ii),

https://dl.doubtnut.com/l/_W4fPzDdvUmJi
https://dl.doubtnut.com/l/_ZGZg2hqkvsa0


in fig (i) 

A. 

B. 

C. 

D. 

y = x

x + y = 0

y = 2x

2 + 3y = 7x

https://dl.doubtnut.com/l/_ZGZg2hqkvsa0


Answer: B

Watch Video Solution

9. From the choices given below, choose the

equation whose graphs are in fig (i) and fig (ii),

https://dl.doubtnut.com/l/_ZGZg2hqkvsa0
https://dl.doubtnut.com/l/_oyfLpZNgchPf


in fig (ii) 

A. 

B. 

C. 

D. 

y = x + 2

y = x − 2

y = − x + 2

x + 2y = 6

https://dl.doubtnut.com/l/_oyfLpZNgchPf


Answer: C

Watch Video Solution

10. If the work done by a body in application of

a constant force is directly proportional to the

distance travelled by the body, express this in

the form of an equation in two variables and

draw the graph of the same by taking the

constant force as 5 units. Also, send from the

graph the work done when the distance

https://dl.doubtnut.com/l/_oyfLpZNgchPf
https://dl.doubtnut.com/l/_RK4WpWOAOgG0


travelled by the body is 

2 units.

Watch Video Solution

11. If the work done by a body in application of

a constant force is directly proportional to the

distance travelled by the body, express this in

the form of an equation in two variables and

draw the graph of the same by taking the

constant force as 5 units. Also, send from the

graph the work done when the distance

https://dl.doubtnut.com/l/_RK4WpWOAOgG0
https://dl.doubtnut.com/l/_DUgbVKrgZNX2


travelled by the body is 

0 units.

Watch Video Solution

12. Yamini and Fathina, two students of class IX

of a school, together contributed Rs. 100

toewards the prime minister relief fund to

help the earthquake victims. Write a linear

equation which satisfies this data. 

(You may take their contribution as Rs. x and

Rs. y) Draw the graph of the same.

https://dl.doubtnut.com/l/_DUgbVKrgZNX2
https://dl.doubtnut.com/l/_EofzZtZs4Mlb


Watch Video Solution

13. In countries like USA and Canada,

temperature is measured in fahrenheit,

whereas in countries like India, it is measured

in celsius. Here is a linear equation that

converts fahrenheit to celsius. 

. 


Draw the graph of the linear equation above

using celsius for x-axis and fahrenheit for y-

axis.

Watch Video Solution

F = ( )C + 32
9

5

https://dl.doubtnut.com/l/_EofzZtZs4Mlb
https://dl.doubtnut.com/l/_33YGTzbTQc1M


14. In countries like USA and Canada,

temperature is measured in fahrenheit,

whereas in countries like India, it is measured

in celsius. Here is a linear equation that

converts fahrenheit to celsius. 

. 


If the temperature is C, what is the

tempetature in fahrenheit?

Watch Video Solution

F = ( )C + 32
9

5

30∘

https://dl.doubtnut.com/l/_33YGTzbTQc1M
https://dl.doubtnut.com/l/_llLgiydAgCiQ
https://dl.doubtnut.com/l/_jadWf6IMnMhq


15. In countries like USA and Canada,

temperature is measured in fahrenheit,

whereas in countries like India, it is measured

in celsius. Here is a linear equation that

converts fahrenheit to celsius. 

. 


If the temperature is , what is the

temperature in celsius.

Watch Video Solution

F = ( )C + 32
9

5

95∘ F

https://dl.doubtnut.com/l/_jadWf6IMnMhq


16. In countries like USA and Canada,

temperature is measured in fahrenheit,

whereas in countries like India, it is measured

in celsius. Here is a linear equation that

converts fahrenheit to celsius. 

. 


If the temperature if , what is the

temperature in fahrenheit and if the

temperature is , what is the temperature

in celsius?

Watch Video Solution

F = ( )C + 32
9

5

0∘ C

0∘ F

https://dl.doubtnut.com/l/_lAkUehD6ZrOY


17. In countries like USA and Canada,

temperature is measured in fahrenheit,

whereas in countries like India, it is measured

in celsius. Here is a linear equation that

converts fahrenheit to celsius. 

. 


Is there a temperature which is numerically

the same in both Fahrenheit and celsius? If

yes, find it.

Watch Video Solution

F = ( )C + 32
9

5

https://dl.doubtnut.com/l/_4K8iXFZggab5


Exercise 10 4

1. Give geometric representation of y=3 as an

equation 

in one variable

Watch Video Solution

2. Give geometric representation of y=3 as an

equation 

in two variables.

Watch Video Solution

https://dl.doubtnut.com/l/_TI6YFHV1R5Sc
https://dl.doubtnut.com/l/_L2GQ5FESPBsQ


3. Give the geometric representation of 2x+9=0

as an equation 

in one variable.

Watch Video Solution

4. Give the geometric representation of

2x+9=0 as an equation 

in two variable.

Watch Video Solution

https://dl.doubtnut.com/l/_L2GQ5FESPBsQ
https://dl.doubtnut.com/l/_SCElXNMW9jTL
https://dl.doubtnut.com/l/_46yP52n4FLf1


https://dl.doubtnut.com/l/_46yP52n4FLf1

